

On Certain Results Involving Mock- Theta Functions

Satya Prakash Singh and Bindu Prakash Mishra*,

Department of Mathematics, T.D.P.G. College, Jaunpur - 222002, (U.P.) India.

*Department of Mathematics, M.D. College, Parel, Mumbai.

Address for correspondence: Dr. S.P. Singh, Department of Mathematics,
T.D.P.G. College, Jaunpur - 222002 (U.P.) India.

E-mail: snsp39@yahoo.com

Abstract: In this paper, making use of certain identities, we have established interesting results involving mock-theta functions, partial mock theta functions and complete mock theta functions.

Keywords: Mock theta function, Partial mock -theta function, complete mock theta function, identity, summation formula, truncated basic hypergeometric series.

AMS subject classification code: Primary 33D90, 11A55 ; Secondary 11F20.

1. Notations and definitions:

Throughout this note, we shall adopt the following definitions and notations. The q -factorial is defined by,

$$[a; q]_0 = 1$$

$$[a; q]_n = (1 - a)(1 - aq) \dots (1 - aq^{n-1}), \quad n = 1, 2, 3, \dots,$$

and

$$[a; q]_\infty = \prod_{k=0}^{\infty} (1 - aq^k).$$

For product of q -shifted factorials, we use the short notation

$$[a_1, a_2, a_3, \dots, a_r; q]_n = [a_1; q]_n [a_2; q]_n [a_3; q]_n \dots [a_r; q]_n,$$

where n is an integer or infinity.

Basic and bilateral basic hypergeometric series are defined by,

$${}_r\Phi_s \left[\begin{matrix} a_1, a_2, \dots, a_r; q; z \end{matrix} \right] = \sum_{n=0}^{\infty} \frac{[a_1, a_2, \dots, a_r; q]_n z^n}{[q, b_1, b_2, \dots, b_s; q]_n} \left[(-)^n q^{n(n-1)/2} \right]^{1+s-r}.$$

and

$${}_r\Psi_s \left[\begin{matrix} a_1, a_2, \dots, a_r; q; z \end{matrix} \right] = \sum_{n=-\infty}^{\infty} \frac{[a_1, a_2, \dots, a_r; q]_n z^n}{[q, b_1, b_2, \dots, b_s; q]_n} \left[(-)^n q^{n(n-1)/2} \right]^{s-r}.$$

respectively. We shall use the following known partial sums in our analysis.

$${}_2\Phi_1 \left[\begin{matrix} a, y; q; q \end{matrix} \right]_N = \sum_{r=0}^N \frac{[a, y; q]_r q^r}{[q, ayq; q]_r} = \frac{[aq, yq; q]_N}{[q, ayq; q]_N}. \quad (1.1)$$

Taking $y=0$ in (1.1) we get another summation,

$${}_1\Phi_0 \left[\begin{matrix} a; q; q \\ - \end{matrix} \right]_N = \sum_{r=0}^N \frac{[a; q]_r q^r}{[q; q]_r} = \frac{[aq; q]_N}{[q; q]_N}. \quad (1.2)$$

As $n \rightarrow \infty$, (1.1) and (1.2) give following summation formulae respectively,

$${}_2\Phi_1 \left[\begin{matrix} a, y; q; q \\ ayz \end{matrix} \right] = \sum_{r=0}^{\infty} \frac{[a, y; q]_r q^r}{[q, ayz; q]_r} = \frac{[aq, yq; q]_{\infty}}{[q, ayz; q]_{\infty}}. \quad (1.3)$$

$${}_1\Phi_0 \left[\begin{matrix} a; q; q \\ - \end{matrix} \right] = \sum_{r=0}^{\infty} \frac{[a; q]_r q^r}{[q; q]_r} = \frac{[aq; q]_{\infty}}{[q; q]_{\infty}}. \quad (1.4)$$

(a) The complete set of mock theta functions of order three are
Mock theta function of order three

$$\begin{aligned} f(q) &= \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q; q]_n^2}, & \Phi(q) &= \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q^2; q^2]_n}, \\ \Psi(q) &= \sum_{n=0}^{\infty} \frac{q^{n^2}}{[q; q^2]_n}, & \chi(q) &= \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-\omega q, -\omega^2 q; q]_n}, \\ \omega(q) &= \sum_{n=0}^{\infty} \frac{q^{2n(n+1)}}{[q; q^2]_{n+1}^2}, & \rho(q) &= \sum_{n=0}^{\infty} \frac{q^{2n(n+1)}}{[\omega q, \omega^2 q; q^2]_{n+1}}, \\ \nu(q) &= \sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{[-q; q^2]_{n+1}} \end{aligned}$$

Partial mock theta functions of order three

$$\begin{aligned} f_N(q) &= \sum_{n=0}^N \frac{q^{n^2}}{[-q; q]_n^2}, & \Phi_N(q) &= \sum_{n=0}^N \frac{q^{n^2}}{[-q^2; q^2]_n}, \\ \Psi_N(q) &= \sum_{n=0}^N \frac{q^{n^2}}{[q; q^2]_n}, & \chi_N(q) &= \sum_{n=0}^N \frac{q^{n^2}}{[-\omega q, -\omega^2 q; q]_n}, \\ \omega_N(q) &= \sum_{n=0}^N \frac{q^{2n(n+1)}}{[q; q^2]_{n+1}^2}, & \rho_N(q) &= \sum_{n=0}^N \frac{q^{2n(n+1)}}{[\omega q, \omega^2 q; q^2]_{n+1}}, \\ \nu_N(q) &= \sum_{n=0}^N \frac{q^{n(n+1)}}{[-q; q^2]_{n+1}} \end{aligned}$$

Complete mock theta functions of order three

$$f_c(q) = \sum_{n=-\infty}^{\infty} \frac{q^{n^2}}{[-q; q]_n^2}, \quad \Phi_c(q) = \sum_{n=-\infty}^{\infty} \frac{q^{n^2}}{[-q^2; q^2]_n},$$

$$\begin{aligned}
\Psi_c(q) &= \sum_{n=-\infty}^{\infty} \frac{q^{n^2}}{[q; q^2]_n}, & \chi_c(q) &= \sum_{n=-\infty}^{\infty} \frac{q^{n^2}}{[-\omega q, -\omega^2 q; q]_n} \\
\omega_c(q) &= \sum_{n=-\infty}^{\infty} \frac{q^{2n(n+1)}}{[q; q^2]_{n+1}^2}, & \rho_c(q) &= \sum_{n=-\infty}^{\infty} \frac{q^{2n(n+1)}}{[\omega q, \omega^2 q; q^2]_{n+1}} \\
\nu_c(q) &= \sum_{n=-\infty}^{\infty} \frac{q^{n(n+1)}}{[-q; q^2]_{n+1}}
\end{aligned}$$

(b) Mock theta functions of order five (first group)

$$\begin{aligned}
f_0(q) &= \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q; q]_n}, & \Phi_0(q) &= \sum_{n=0}^{\infty} q^{n^2} [-q; q^2]_n, \\
\Psi_0(q) &= \sum_{n=0}^{\infty} [-q; q]_n q^{(n+1)(n+2)/2}, & F_0(q) &= \sum_{n=0}^{\infty} \frac{q^{2n^2}}{[q; q^2]_n}, \\
\chi_0(q) &= \sum_{n=0}^{\infty} \frac{q^n [q; q]_n}{[q; q]_{2n}},
\end{aligned}$$

Partial mock theta functions of order five (first group)

$$\begin{aligned}
f_{0,N}(q) &= \sum_{n=0}^N \frac{q^{n^2}}{[-q; q]_n}, & \Phi_{0,N}(q) &= \sum_{n=0}^N q^{n^2} [-q; q^2]_n, \\
\Psi_{0,N}(q) &= \sum_{n=0}^N [-q; q]_n q^{(n+1)(n+2)/2}, & F_{0,N}(q) &= \sum_{n=0}^N \frac{q^{2n^2}}{[q; q^2]_n}, \\
\chi_{0,N}(q) &= \sum_{n=0}^N \frac{q^n [q; q]_n}{[q; q]_{2n}},
\end{aligned}$$

Complete mock theta functions of order five (first group)

$$\begin{aligned}
f_{0,c}(q) &= \sum_{n=-\infty}^{\infty} \frac{q^{n^2}}{[-q; q]_n}, & \Phi_{0,c}(q) &= \sum_{n=-\infty}^{\infty} q^{n^2} [-q; q^2]_n, \\
\Psi_{0,c}(q) &= \sum_{n=-\infty}^{\infty} [-q; q]_n q^{(n+1)(n+2)/2}, & F_{0,c}(q) &= \sum_{n=-\infty}^{\infty} \frac{q^{2n^2}}{[q; q^2]_n}, \\
\chi_{0,c}(q) &= \sum_{n=-\infty}^{\infty} \frac{q^n [q; q]_n}{[q; q]_{2n}},
\end{aligned}$$

(c) Mock theta functions of order five (second group)

$$\begin{aligned}
f_1(q) &= \sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{[-q; q]_n}, & \Phi_1(q) &= \sum_{n=0}^{\infty} q^{(n+1)^2} [-q; q^2]_n, \\
\Psi_1(q) &= \sum_{n=0}^{\infty} [-q; q]_n q^{n(n+1)/2}, & F_1(q) &= \sum_{n=0}^{\infty} \frac{q^{2n(n+1)}}{[q; q^2]_{n+1}},
\end{aligned}$$

$$\chi_1(q) = \sum_{n=0}^{\infty} \frac{q^n [q; q]_n}{[q; q]_{2n+1}}$$

Partial mock theta functions of order five (second group)

$$f_{1,N}(q) = \sum_{n=0}^N \frac{q^{n(n+1)}}{[-q; q]_n}, \quad \Phi_{1,N}(q) = \sum_{n=0}^N q^{(n+1)^2} [-q; q^2]_n,$$

$$\Psi_{1,N}(q) = \sum_{n=0}^N [-q; q]_n q^{n(n+1)/2}, \quad F_{1,N}(q) = \sum_{n=0}^N \frac{q^{2n(n+1)}}{[q; q^2]_{n+1}},$$

$$\chi_{1,N}(q) = \sum_{n=0}^N \frac{q^n [q; q]_n}{[q; q]_{2n+1}}$$

Complete mock theta functions of order five (second group)

$$f_{1,c}(q) = \sum_{n=-\infty}^{\infty} \frac{q^{n(n+1)}}{[-q; q]_n}, \quad \Phi_{1,c}(q) = \sum_{n=-\infty}^{\infty} q^{(n+1)^2} [-q; q^2]_n,$$

$$\Psi_{1,c}(q) = \sum_{n=-\infty}^{\infty} [-q; q]_n q^{n(n+1)/2}, \quad F_{1,c}(q) = \sum_{n=-\infty}^{\infty} \frac{q^{2n(n+1)}}{[q; q^2]_{n+1}},$$

$$\chi_{1,c}(q) = \sum_{n=-\infty}^{\infty} \frac{q^n [q; q]_n}{[q; q]_{2n+1}}$$

(d) Mock theta functions of order seven

$$\mathfrak{S}_0(q) = \sum_{n=0}^{\infty} \frac{q^{n^2} [q; q]_n}{[q; q]_{2n}}, \quad \mathfrak{S}_1(q) = \sum_{n=0}^{\infty} \frac{q^{(n+1)^2} [q; q]_n}{[q; q]_{2n+1}}$$

$$\mathfrak{S}_2(q) = \sum_{n=0}^{\infty} \frac{q^{n(n+1)} [q; q]_n}{[q; q]_{2n+1}}$$

Partial Mock theta functions of order seven

$$\mathfrak{S}_{0,N}(q) = \sum_{n=0}^N \frac{q^{n^2} [q; q]_n}{[q; q]_{2n}}, \quad \mathfrak{S}_{1,N}(q) = \sum_{n=0}^N \frac{q^{(n+1)^2} [q; q]_n}{[q; q]_{2n+1}}$$

$$\mathfrak{S}_{2,N}(q) = \sum_{n=0}^N \frac{q^{n(n+1)} [q; q]_n}{[q; q]_{2n+1}}$$

Complete Mock theta functions of order seven

$$\mathfrak{S}_{0,c}(q) = \sum_{n=-\infty}^{\infty} \frac{q^{n^2} [q; q]_n}{[q; q]_{2n}}, \quad \mathfrak{S}_{1,c}(q) = \sum_{n=-\infty}^{\infty} \frac{q^{(n+1)^2} [q; q]_n}{[q; q]_{2n+1}}$$

$$\mathfrak{S}_{2,c}(q) = \sum_{n=-\infty}^{\infty} \frac{q^{n(n+1)} [q; q]_n}{[q; q]_{2n+1}}$$

2. Identities

In this section we establish two identities which will be used in next section.

(a) Bailey in 1947 establish the following lemma which is simple but very useful.
If

$$\beta_n = \sum_{r=0}^n \alpha_r u_{n-r} v_{n+r} \quad (2.1)$$

and

$$\gamma_n = \sum_{r=n}^{\infty} \delta_r u_{r-n} v_{r+n} \quad (2.2)$$

Then under suitable conditions of convergence

$$\sum_{n=0}^{\infty} \alpha_n \gamma_n = \sum_{n=0}^{\infty} \beta_n \delta_n, \quad (2.3)$$

provided $\alpha_r, \delta_r, u_r, v_r$ are functions of r alone and the infinite series defining γ_n is convergent.

If we take $u_r = v_r = 1$ in the above lemma than it takes the following form, If

$$\beta_n = \sum_{r=0}^n \alpha_r, \quad \gamma_n = \sum_{r=n}^{\infty} \delta_r \quad (2.4)$$

Then under suitable conditions of convergence

$$\sum_{n=0}^{\infty} \alpha_n \gamma_n = \sum_{n=0}^{\infty} \beta_n \delta_n. \quad (2.5)$$

Using (2.4) in (2.5) we have,

$$\sum_{n=0}^{\infty} \alpha_n \left\{ \sum_{r=0}^{\infty} \delta_r - \sum_{r=0}^n \delta_r + \delta_n \right\} = \sum_{n=0}^{\infty} \delta_n \sum_{r=0}^n \alpha_r$$

which on simplification gives the identity,

$$\sum_{n=0}^{\infty} \alpha_n \sum_{r=0}^{\infty} \delta_r = \sum_{n=0}^{\infty} \delta_n \sum_{r=0}^n \alpha_r + \sum_{n=0}^{\infty} \alpha_n \sum_{r=0}^n \delta_r - \sum_{n=0}^{\infty} \alpha_n \delta_n, \quad (2.6)$$

where α_n and δ_n are any two arbitrary sequences.

(b) The symmetric bilateral Bailey transform due to Andrews and Warnaar [2] is given by, If

$$\beta_n = \sum_{r=-n}^n \alpha_r u_{n-r} v_{n+r} \quad (2.7)$$

and

$$\gamma_n = \sum_{r=|n|}^{\infty} \delta_r u_{r-n} v_{r+n} \quad (2.8)$$

Then

$$\sum_{n=-\infty}^{\infty} \alpha_n \gamma_n = \sum_{n=0}^{\infty} \beta_n \delta_n, \quad (2.9)$$

subject to conditions on the four sequences $\alpha_n, \beta_n, \gamma_n$ and δ_n which make all the relevant infinite series absolutely convergent.

Taking $u_r = v_r = 1$ in (2.7) and (2.9) we have, If

$$\beta_n = \sum_{r=-n}^n \alpha_r, \quad \gamma_n = \sum_{r=n}^{\infty} \delta_r$$

Then

$$\sum_{n=-\infty}^{\infty} \alpha_n \gamma_n = \sum_{n=0}^{\infty} \beta_n \delta_n. \quad (2.10)$$

provided all infinite series are convergent.

Now, we can write (2.10) as,

$$\sum_{n=-\infty}^{\infty} \alpha_n \sum_{r=n}^{\infty} \delta_r = \sum_{n=0}^{\infty} \delta_n \sum_{r=-n}^n \alpha_n$$

or

$$\begin{aligned} \sum_{n=-\infty}^{\infty} \alpha_n \left\{ \sum_{r=0}^{\infty} \delta_r - \sum_{r=0}^n \delta_r + \delta_n \right\} &= \sum_{n=0}^{\infty} \delta_n \sum_{r=-n}^n \alpha_r \\ \sum_{n=-\infty}^{\infty} \alpha_n \sum_{r=0}^{\infty} \delta_r &= \sum_{n=0}^{\infty} \delta_n \sum_{r=-n}^n \alpha_r + \sum_{n=-\infty}^{\infty} \alpha_n \sum_{r=0}^n \delta_r - \sum_{n=-\infty}^{\infty} \alpha_n \delta_n. \end{aligned}$$

Thus we have the identity

$$\sum_{n=-\infty}^{\infty} \alpha_n \sum_{r=0}^{\infty} \delta_r = \sum_{n=0}^{\infty} \delta_n \sum_{r=-n}^n \alpha_r + \sum_{n=-\infty}^{\infty} \alpha_n \sum_{r=0}^n \delta_r - \sum_{n=-\infty}^{\infty} \alpha_n \delta_n, \quad (2.11)$$

where α_r and δ_r arbitrary sequences.

3. Main Results

In this section we shall make use of the identities (2.6) and (2.11) in order to establish certain results involving mock theta functions.

(i) Taking $\delta_r = \frac{[a, y; q]_r q^r}{[q, ayq; q]_r}$ in (2.6) we get,

$$\sum_{n=0}^{\infty} \alpha_n \frac{[aq, yq; q]_{\infty}}{[q, ayq; q]_{\infty}} = \sum_{n=0}^{\infty} \frac{[a, y; q]_n q^n}{[q, ayq; q]_n} \sum_{r=0}^n \alpha_r + \sum_{n=0}^{\infty} \alpha_n \frac{[aq, yq; q]_n}{[q, ayq; q]_n} - \sum_{n=0}^{\infty} \frac{[a, y; q]_n q^n}{[q, ayq; q]_n} \alpha_n,$$

which on simplification gives

$$\frac{[aq, yq; q]_{\infty}}{[q, ayq; q]_{\infty}} \sum_{n=0}^{\infty} \alpha_n = \sum_{n=0}^{\infty} \frac{[a, y; q]_n q^n}{[q, ayq; q]_n} \sum_{r=0}^n \alpha_r + \sum_{n=0}^{\infty} \frac{[aq, yq; q]_n}{[q, ayq; q]_n} \alpha_{n+1}. \quad (3.1)$$

We shall make use of (3.1) in order to give series representation of different mock theta functions.

(ii) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_n^2}$ in (3.1) we find,

$$\frac{[aq, yq; q]_\infty}{[q, ayq; q]_\infty} f(q) = \sum_{n=0}^{\infty} \frac{[a, y; q]_n q^n}{[q, ayq; q]_n} f_n(q) + \sum_{n=0}^{\infty} \frac{[aq, yq; q]_n q^{(n+1)^2}}{[q, ayq; q]_n [-q; q]_{n+1}^2}. \quad (3.2)$$

For $a = y = -1$ in (3.2) we have,

$$\frac{[-q; q]_\infty^2}{[q; q]_\infty^2} f(q) = \sum_{n=0}^{\infty} \frac{[-1; q]_n^2 q^n}{[q; q]_n^2} f_n(q) + \sum_{n=0}^{\infty} \frac{[-q; q]_n^2 q^{(n+1)^2}}{[q; q]_n^2 [-q; q]_{n+1}^2}, \quad (3.3)$$

Other mock theta functions of order three can be expressed similarly by proper choice of α_n in (3.1).

(iii) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_n}$ in (3.1) we get,

$$\frac{[aq, yq; q]_\infty}{[q, ayq; q]_\infty} f_0(q) = \sum_{n=0}^{\infty} \frac{[a, y; q]_n q^n}{[q, ayq; q]_n} f_{0,n}(q) + \sum_{n=0}^{\infty} \frac{[aq, yq; q]_n q^{(n+1)^2}}{[q, ayq; q]_n [-q; q]_{n+1}}, \quad (3.4)$$

where $f_0(q)$ is a mock theta function of order five belonging to the first group.

Taking $a = -1$ in (3.4) we have,

$$\frac{[-q, yq; q]_\infty}{[q, -yq; q]_\infty} f_0(q) = \sum_{n=0}^{\infty} \frac{[-1, y; q]_n q^n}{[q, -yq; q]_n} f_{0,n}(q) + \sum_{n=0}^{\infty} \frac{[yq; q]_n q^{(n+1)^2}}{[q, -yq; q]_n (1 + q^{n+1})}. \quad (3.5)$$

Taking $y = -1$ in (3.5) we have,

$$\left\{ \frac{[-q; q]_\infty}{[q; q]_\infty} \right\}^2 f_1(q) = \sum_{n=0}^{\infty} \frac{[-1; q]_n^2 q^n}{[q; q]_n^2} f_{0,n}(q) + \sum_{n=0}^{\infty} \frac{[-q; q]_n q^{(n+1)^2}}{[q; q]_n^2 (1 + q^{n+1})}. \quad (3.6)$$

(iv) Choosing $\alpha_n = \frac{q^{n(n+1)}}{[-q; q]_n}$ in (3.1) we get,

$$\frac{[aq, yq; q]_\infty}{[q, ayq; q]_\infty} f_1(q) = \sum_{n=0}^{\infty} \frac{[a, y; q]_n q^n}{[q, ayq; q]_n} f_{1,n}(q) + \sum_{n=0}^{\infty} \frac{[aq, yq; q]_n q^{(n+1)(n+2)}}{[q, ayq; q]_n [-q; q]_{n+1}}, \quad (3.7)$$

Taking $a = -1, y = -1$ in (3.7) we get,

$$\frac{[-q; q]_\infty^2}{[q; q]_\infty^2} f_1(q) = \sum_{n=0}^{\infty} \frac{[-1; q]_n^2 q^n}{[q; q]_n^2} f_{1,n}(q) + \sum_{n=0}^{\infty} \frac{[-q; q]_n q^{(n+1)(n+2)}}{[q; q]_n^2 (1 + q^{n+1})}. \quad (3.8)$$

(v) Choosing $\alpha_n = \frac{q^{n^2} [q; q]_n}{[q; q]_{2n}}$ in (3.1) we get,

$$\frac{[aq, yq; q]_\infty}{[q, ayq; q]_\infty} \mathfrak{F}_0(q) = \sum_{n=0}^{\infty} \frac{[a, y; q]_n q^n}{[q, ayq; q]_n} \mathfrak{F}_{0,n}(q) + \sum_{n=0}^{\infty} \frac{[aq, yq; q]_n q^{(n+1)^2} [q; q]_{n+1}}{[q, ayq; q]_n [q; q]_{2n+2}}, \quad (3.9)$$

for $y = 0$ it gives

$$\frac{[aq; q]_\infty}{[q; q]_\infty} \mathfrak{S}_0(q) = \sum_{n=0}^{\infty} \frac{[q; q]_n q^n}{[q; q]_n} \mathfrak{S}_{0,n}(q) + \sum_{n=0}^{\infty} \frac{[aq; q]_n q^{(n+1)^2} (1 + q^{n+1})}{[q; q]_{2n+2}}. \quad (3.10)$$

taking $a = -1$ in (3.10) we have,

$$\frac{[-q; q]_\infty}{[q; q]_\infty} \mathfrak{S}_0(q) = \sum_{n=0}^{\infty} \frac{[-1; q]_n q^n}{[q; q]_n} \mathfrak{S}_{0,n}(q) + \sum_{n=0}^{\infty} \left(\frac{1 - q^{n+1}}{1 + q^{n+1}} \right) \frac{q^{(n+1)^2}}{[q; q]_{n+1} [q; q^2]_{n+1}}. \quad (3.11)$$

Similar representations for other mock theta functions of order seven can be established by proper choice of α_n in (3.1).

4. Product formulae for mock theta functions

In this section we shall establish product formulae for any two mock theta functions

(i) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_n^2}$ and $\delta_n = \frac{q^{n^2}}{[-q^2; q^2]_n}$ in (2.6) we get,

$$f(q)\Phi(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q^2; q^2]_n} f_n(q) + \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q; q]_n^2} \Phi_n(q) - \sum_{n=0}^{\infty} \frac{q^{2n^2}}{[-q; q]_n^2 [-q^2; q^2]_n}. \quad (4.1)$$

This is a product formula for two mock theta functions of order three. Similar product formulae for other pairs of mock theta functions of order three can also be established.

(ii) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_n^2}$ and $\delta_n = \frac{q^{n(n+1)}}{[-q; q]_n}$ in (2.6) we get,

$$f(q)f_1(q) = \sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{[-q; q]_n} f_n(q) + \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q; q]_n^2} f_{1,n}(q) - \sum_{n=0}^{\infty} \frac{q^{n(2n+1)}}{[-q; q]_n^3}, \quad (4.2)$$

where $f(q)$ is a mock theta function of order three and $f_1(q)$ is a mock theta function of order five belonging to the second group.

(iii) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_n^2}$ and $\delta_n = \frac{q^{n^2}}{[-q; q]_n}$ in (2.6) we get,

$$f(q)f_0(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q; q]_n} f_n(q) + \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q; q]_n^2} f_{0,n}(q) - \sum_{n=0}^{\infty} \frac{q^{2n^2}}{[-q; q]_n^3}, \quad (4.3)$$

where $f_0(q)$ is a mock theta function of order five belonging to the first group. Thus similar results can be established of mock theta function of order three and mock theta function of order five.

(iv) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_n}$ and $\delta_n = \frac{q^{n(n+1)}}{[-q; q]_n}$ in (2.6) we get,

$$f_0(q)f_1(q) = \sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{[-q; q]_n} f_{0,n}(q) + \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q; q]_n} f_{1,n}(q) - \sum_{n=0}^{\infty} \frac{q^{n(2n+1)}}{[-q; q]_n^2}, \quad (4.4)$$

where $f_0(q)$ and $f_1(q)$ are mock theta function of order five one belonging to the first group and another belonging to the second group respectively. Similar results for any pair of mock theta

function of order five can be established.

(v) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_n^2}$ and $\delta_n = \frac{q^{n^2}[q; q]_n}{[q; q]_{2n}}$ in (2.6) we get,

$$f(q)\mathfrak{S}_0(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}[q; q]_n}{[q; q]_{2n}} f_n(q) + \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q; q]_n^2} \mathfrak{S}_{0,n}(q) - \sum_{n=0}^{\infty} \frac{q^{2n^2}[q; q]_n}{[-q; q]_n^2 [q; q]_{2n}}, \quad (4.5)$$

where $f(q)$ is a mock theta function of order three and $\mathfrak{S}_0(q)$ is a mock theta function of order seven. Similar results involving any mock theta function of order three and any mock theta function of order seven can be established.

(vi) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_n}$ and $\delta_n = \frac{q^{n^2}[q; q]_n}{[q; q]_{2n}}$ in (2.6) we get,

$$f(q)\mathfrak{S}_0(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}[q; q]_n}{[q; q]_{2n}} f_{0,n}(q) + \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q; q]_n} \mathfrak{S}_{0,n}(q) - \sum_{n=0}^{\infty} \frac{q^{2n^2}[q; q]_n}{[-q; q]_n [q; q]_{2n}}, \quad (4.6)$$

where $f_0(q)$ is a mock theta function of order five.

(vii) Choosing $\alpha_n = \frac{q^{n^2}[q; q]_n}{[q; q]_{2n}}$ and $\delta_n = \frac{[q; q]_n q^{n(n+1)^2}}{[q; q]_{2n+1}}$ in (2.6) we get,

$$\mathfrak{S}_0(q)\mathfrak{S}_1(q) = \sum_{n=0}^{\infty} \frac{[q; q]_n q^{n(n+1)^2}}{[q; q]_{2n+1}} \mathfrak{S}_{0,n}(q) + \sum_{n=0}^{\infty} \frac{[q; q]_n q^{n^2}}{[q; q]_{2n}} \mathfrak{S}_{1,n}(q) - \sum_{n=0}^{\infty} \frac{[q; q]_n^2 q^{2n(n+1)+1}}{[q; q]_{2n} [q; q]_{2n+1}}, \quad (4.7)$$

where $\mathfrak{S}_0(q)$ and $\mathfrak{S}_1(q)$ are mock theta functions of order seven. Similar other results can also be scored.

5. New Product Formulae

In this section we shall make use of (2.11) in order to establish product formulae for mock theta functions.

(i) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_n^2}$ and $\delta_n = \frac{q^{n^2}}{[-q^2; q^2]_n}$ in (2.11) we get,

$$f_c(q)\Phi(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q^2; q^2]_n} f_{(-n,n)}(q) + \sum_{n=-\infty}^{\infty} \frac{q^{n^2}}{[-q; q]_n^2} \Phi_n(q) - \sum_{n=-\infty}^{\infty} \frac{q^{2n^2}}{[-q; q]_n^2 [-q^2; q^2]_n}, \quad (5.1)$$

where $f_c(q)$ is complete mock theta function of order three and $\Phi(q)$ is another mock theta function of order three.

(ii) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_n^2}$ and $\delta_n = \frac{q^{n^2}}{[-q; q]_n}$ in (2.11) we get,

$$f_c(q)f_0(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{[-q; q]_n} f_{(-n,n)}(q) + \sum_{n=-\infty}^{\infty} \frac{q^{n^2}}{[-q; q]_n^2} f_{0,n}(q) - \sum_{n=-\infty}^{\infty} \frac{q^{2n^2}}{[-q; q]_n^3}, \quad (5.2)$$

where $\Phi(q)$ is a mock theta function of order five belonging to the first group.

(iii) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_n^2}$ and $\delta_n = \frac{q^{n(n+1)}}{[-q; q]_n}$ in (2.11) we get,

$$f_c(q)f_1(q) = \sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{[-q; q]_n} f_{(-n,n)}(q) + \sum_{n=-\infty}^{\infty} \frac{q^{n^2}}{[-q; q]_n^2} f_{1,n}(q) - \sum_{n=-\infty}^{\infty} \frac{q^{n(2n+1)}}{[-q; q]_n^3}, \quad (5.3)$$

where $f_1(q)$ is a mock theta function of order five belonging to the second group.

(iv) Choosing $\alpha_n = \frac{q^{n^2}}{[-q; q]_{2n}^2}$ and $\delta_n = \frac{q^{n^2}[q; q]_n}{[q; q]_{2n}}$ in (2.11) we get,

$$f_c(q)\mathfrak{S}_0(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}[q; q]_n}{[q; q]_{2n}} f_{(-n,n)}(q) + \sum_{n=-\infty}^{\infty} \frac{q^{n^2}}{[-q; q]_{2n}^2} \mathfrak{S}_{0,n}(q) - \sum_{n=-\infty}^{\infty} \frac{q^{2n^2}[q; q]_n}{[-q; q]_n^2 [q; q]_{2n}}, \quad (5.4)$$

where $\mathfrak{S}_0(q)$ is a mock theta function of order seven and

$$f_{(-n,n)}(q) = \sum_{r=-n}^n \frac{q^{r^2}}{[-q; q]_r^2}.$$

Thus we can establish similar expression for the product of any two mock theta functions of same order or of different order.

Acknowledgement

The first author is thankful to Department of Science and Technology, Govt. of India, New Delhi, and University Grants Commission, New Delhi for support under a major research project No. SR/S4/ MS:561/08 entitled "Investigations of Ramanujan's work in the field of basic hypergeometric series" and minor research project no F. No. 8-3 (115)/2011(MRP/NRCB) respectively. The second author is thankful to the authorities of University Grants Commission, New Delhi for sanctioning the major research project F.38-122/2009 (SR) dated 19-12-2009 under which this work has been done.

References

- [1] Agarwal, R. P., Resonance of Ramanujan's Mathematics, vol. II, New Age International (P) limited, New Delhi 1996.
- [2] Andrews, G. E. and Warnaar, S. O., The Bailey transform and false theta functions, The Ramanujan J. vol. 14, no. 1 (2007), 173-188.
- [3] Gasper, G. and Rahman, M., Basic Hypergeometric Series, Cambridge University Press, Cambridge 1990.